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HEARE SR EERBESREBRRS RURERHSEH

% L] Hg - BIRHE AL % B B ® # m =
BRI 4,679, 763
MR Et 4,679, 763
ES B 4,679, 763
ES B 4,472,450
FETE 126, 500
1 FH B 1.00 126, 500. 00 126, 500
=
ES B 1,868, 750
2 EALBREBEROT V& XFEMRE 1.00 686, 200. 00 686, 200
=
3 B EHI DI ER UM BRE 1.00 386, 350. 00 386, 350
=
4 ETEIEORE 1.00 510, 300. 00 510, 300
=
SBEIREDEH 2.00 142, 950. 00 285, 900
7=
AR 1, 785, 600
6 TEFHEITERER 2.00 892, 800. 00 1,785, 600
=l
%iE - 16 ¢ 583, 500
1 RIS 1.00 126, 500. 00 126, 500
=l
8 PREHRE 2.00 126, 500. 00 253, 000
=l
9 HBR|ME 1.00 204, 000. 00 204, 000
=l
BE 108, 100




HEARE SR EERBESREBRRS RURERHSEH

% R R& - WAKSTE BfL - B ' # m o=

10 B&E 1.00 108, 100. 00 108, 100

=
EEEE 207,313
EHARE 37,808
1 EBAME 1.00 37, 808. 00 37, 808

=
EBHRRERE 169, 505
12 $BHERE 1.00 169, 505. 00 169, 505

=




SHNTEERBEEBERHRERAERBIEES

% g - AKTiE Bifr 2 fiff & #B w E
B IR 4,472,450 + 207,313 4,679,763
BEEAGE 4,472, 450
E#ERE 207,313
T At R i 4,472,450 x 53.85% ( 35% = (1 — 35%) ) 2,408,414
E IR 4,679,763 + 2,408,414 7,088,177
—REBRES 7,088,177 x 53.85% (35% + (1 — 35%) ) — 5 160 3,811,823
KB 7,088,177 + 3,811,823 10, 900, 000
HBETEMALE 10,900,000 x 10.00% 1,090, 000
EHERH 10,900, 000 + 1,090, 000 11,990, 000




Bffik-fEI/\vr—>

SH7EERBEEEERMTERIGEMRITEES

&5 1
B FTEER 1LY
£ 7 R - KT By = B Of € # B &
FEEER
A 1.000 66, 900. 00 66, 900
HEn (A)
A 1.000 59, 600. 00 59, 600
= it 1YE%HeH - 1.00K 126, 500. 00 126, 500
&5 :2
B EATBRBEROT U £ XM 1LY
£ 7 R - KT By = B Of € # B =
FEEER
A 3.000 66, 900. 00 200, 700
HEn (A)
A 3. 000 59, 600. 00 178, 800
e (B)
A 3. 000 48, 500. 00 145, 500
A (C)
A 4. 000 40, 300. 00 161, 200
= 5 1YE%HeH - 1.00K 686, 200. 00 686, 200
5:3
275 : BEERIBHIOER U HBRE 1LY
£ 7 R - KT By = B Of € # B =
HEn (A)
A 1.000 59, 600. 00 59, 600
e (B)
A 3. 500 48, 500. 00 169, 750
A (C)
A 3. 000 40, 300. 00 120, 900
Hftt 8
A 1.000 36, 100. 00 36, 100
= 5 1E%HeH - 1.00K 386, 350. 00 386, 350




Bffik-fEI/\vr—>

SH7EERBEEEERMTERIGEMRITEES

2=
L I EO®RE XLy
%4 7 R - AR R BAf = B i & # # B &
FAEREM
A 1.500 66, 900. 00 100, 350
HEn (A)
A 1.500 59, 600. 00 89, 400
HEm (B)
A 3. 000 48, 500. 00 145, 500
A (C)
A 3. 000 40, 300. 00 120, 900
Hifrg
A 1.500 36, 100. 00 54,150
& E%82H : 1.00=% 510, 300. 00 510, 300
E =)
& IEIEEDOHE 15—2%Y
% 7 R - AR R BAf = B i & # # B =
HEm (B)
A 1.000 48, 500. 00 48, 500
A (C)
A 1.000 40, 300. 00 40, 300
Hifr g
A 1.500 36, 100. 00 54,150
& E2EH - 1.005—R 142, 950. 00 142, 950




Bffik-fEI/\vr—>

SH7EERBEEEERMTERIGEMRITEES

&S :6
B TEFHETERMER EED)
£ 7 R - KT BARL 2 B Of € # B &
e (B)
A 2. 500 48, 500. 00 121, 250
A (C)
A 7. 500 40, 300. 00 302, 250
Hftt 8
A 13. 000 36, 100. 00 469, 300
= 5 1YEZHER - 1.00[E 892, 800. 00 892, 800
&5 .17
2 . BATHE IEED)
£ 7 R - KT BAGL 2 B Of € # B =
FEEER
A 1.000 66, 900. 00 66, 900
HEn (A)
A 1.000 59, 600. 00 59, 600
= it 1YEZHER - 1.00[E 126, 500. 00 126, 500
%5 :8
AT hEERE 1EHY
£ 7 R - KT BAGL 2 B Of € # B =
FEEER
A 1.000 66, 900. 00 66, 900
HEn (A)
A 1.000 59, 600. 00 59, 600
= it 1YEZHER - 1.00[E 126, 500. 00 126, 500




Bffik-fEI/\vr—>

SH7EERBEEEERMTERIGEMRITEES

59
& RRWE 1MmEY
2 g K - BAIKTE B = B ff € &8 # H %
HE - Ffk
A 1.000 77,500. 00 77,500
FEHAR
A 1.000 66, 900. 00 66, 900
e (A)
A 1.000 59, 600. 00 59, 600
& it {EZ8ER - 1.00mE 204, 000. 00 204, 000
H5:10
2 g K - BT B = B ff € &8 # w %
e (A)
A 1.000 59, 600. 00 59, 600
A (B)
A 1.000 48, 500. 00 48, 500
& it EZBER - 1.00 108, 100. 00 108, 100
&H5: 11
&% FHARE 1X&Y
2 g K - BT B = B ff € &8 # w %
EXRARE
= 1.000 37, 808. 00 37,808
& it EZBER - 1.00 37, 808. 00 37,808




Rl - T/ 7 —2 SR RIS A RN S KRR SR

H5 :12
2 EBHRRE
2 Lo R - KT By B = B Of ol | W E B &
(BHRERE
= 1.000 169, 505. 00 169, 505
& it EZBER - 1.00= 169, 505. 00 169, 505




